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Chapter 7
Cash Flow Analysis

REVIEW

Cash is the residual of cash inflows less cash outflows for all prior periods of a company. Net cash flows, or simply cash flows, refer to the current period's cash inflows less cash outflows. Cash flows are different from accrual measures of performance. Cash flow measures recognize inflows when cash is received not necessarily earned, and outflows when cash is paid not necessarily incurred. The statement of cash flows reports cash flow measures for three primary business activities: operating, investing, and financing. Operating cash flows, or cash flows from operations, is the cash basis counterpart to accrual net income. Information on cash flows helps us assess a company's ability to meet obligations, pay dividends, increase capacity, and raise financing. It also helps us assess the quality of earnings and the dependence of income on estimates and assumptions regarding future cash flows.  This chapter describes cash flows and their relevance to our analysis of financial statements. We describe current reporting requirements and their implications for our analysis of cash flows. We explain useful analytical adjustments to cash flows using financial data to improve our analysis. We direct special attention to transaction reconstruction, T-account, and conversion analyses.
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ANALYSIS OBJECTIVES

	· Explain the relevance of cash flows in analyzing business activities.

· Describe reporting of cash flows by business activities.

· Describe the preparation and analysis of the statement of cash flows.

· Interpret cash flows from operating activities.

· Analyze cash flows under alternative company and business conditions.

· Describe alternative measures of cash flows and their usefulness.

· Illustrate an analytical tool in evaluating cash flows (Appendix 7A).




QUESTIONS

1. The term cash flow was probably first coined by analysts. They recognized that the accrual system of income measurement permits the introduction of a variety of alternative accounting treatments and consequent distortions. The crude concept of cash flow—net income plus major noncash expenses (such as depreciation)—was derived to bypass these distortions and bring income measurement closer to the discipline of actual cash flows. This cash flow measure, still a popular surrogate for cash from operations (CFO), is crude because it falls short of reliably approximating in most cases the correct measure of CFO.

Confusion with the term cash flow derives from several sources. One source of confusion stems from the initial and incorrect computation of the crude measure of cash flow as income plus major noncash expenses. The figure fails to reflect actual cash flows. Another and more serious confusion arises from the assertion by some, and particularly by managers dissatisfied by the level of their reported net income, that cash flow is a measure of performance superior to or more valid than net income. This assertion implicitly assumes that depreciation, and other noncash costs, are not genuine expenses. Experience shows that only net income is properly regarded as a measure of performance and can be related to the equity investment as an indicator of operating performance. If we add back depreciation to net income and compute the resulting return on investment, we are, in effect, confusing the return on investment with an element of return on investment in fixed assets.

2.  While fragmentary information on the sources and uses of cash can be obtained from comparative balance sheets and from income statements, a comprehensive picture of this important area of activity can be gained only from a statement of cash flows (SCF). The SCF provides information to help answer questions such as:

· What amount of cash is generated by operations?

· What utilization is made of cash provided by operations?

· What is the source of cash invested in new plant and equipment?

· What use is made of cash from a new bond issue or the issuance of common stock?

· How is it possible to continue the regular dividend in the face of an operating loss?

· How is debt repayment achieved?

· What is the source of cash used to redeem the preferred stock?

· How is the increase in investments financed?

· Why, despite record profits, is the cash position lower than last year?

3. SFAS 95 requires that the statement of cash flows classify cash receipts and cash payments by operating, financing and investing activities.

Operating activities encompass all the earning‑related activities of the enterprise. They encompass, in addition to all the income and expense items found on the income statement, all the net inflows and outflows of cash that operations impose on the enterprise. Such operations include activities such as the extension of credit to customers, investment in inventories, and obtaining credit from suppliers. This means operating activities relate to all items in the statement of income (with minor exceptions) as well as to balance sheet items that relate to operations  mostly working capital accounts such as accounts receivable, inventories, prepayments, accounts payable, and 
accruals. SFAS 95 also specifies that operating activities include all transactions and events that are not of an investing or financing nature.

Financing activities include obtaining resources from owners and providing them with a return of or a return on (dividends) their investment. They also include obtaining resources from creditors and repaying the amounts borrowed or otherwise settling the obligations.

Investing activities include acquiring and selling or otherwise disposing of both securities that are not cash equivalents and productive assets that are expected to generate revenues over the long‑term. They also include lending money and collecting on such loans.

4.
We can distinguish among three categories of adjustments that convert accrual basis net income to cash from operations: (i) Expenses, losses, revenues, and gains that do not use or generate cash such as those involving noncash accounts (except those in ii), (ii) Net changes in noncash accounts (mostly in the operating working capital group) that relate to operations—these modify the accrual‑based revenue and expense items included in income, (iii) Gains and losses (such as on sales of assets) that are transferred to other sections of the SCF so as to show the entire cash proceeds of the sale.

5.
The two methods of reporting cash flow from operations are:


Indirect Method: Under this method net income is adjusted for noncash items required to convert it to CFO. The advantage of this method is that it is a reconciliation that discloses the differences between net income and CFO. Some analysts estimate future cash flows by first estimating future income levels and then adjusting these for leads and lags between income and CFO (that is, noncash adjustments).


Direct (or Inflow‑Outflow) Method: This method lists the gross cash receipts and disbursements related to operations. Most respondents to the Exposure Draft that preceded SFAS 95 preferred this method because this presentation discloses the total amount of cash that flows into the enterprise and out of the enterprise due to operations. This gives analysts a better measure of the size of cash inflows and outflows over which management has some degree of discretion. As the risks that lenders are exposed to relate more to fluctuations in CFO than to fluctuations in net income, information on the amounts of operating cash receipts and payments is important in assessing the nature of those fluctuations.

6.
The function of the income statement is to measure the profitability of the enterprise for a given period. This is done by matching expenses and losses with the revenues and gains earned. While no other statement measures profitability as well as the income statement, it does not show the timing of cash flows and the effect of operations on liquidity and solvency. The latter is reported on by the SCF. Cash from operations (CFO) reflects a broader concept of operations relative to net income. It encompasses all earning‑related activities of the enterprise. CFO is concerned not only with expenses and revenues but also with the cash demands of these activities, such as investments in customer receivables and in inventories as well as the financing provided by suppliers of goods and services. CFO focuses on the liquidity aspect of operations and is not a measure of profitability because it does not include important costs such as the use of long‑lived assets in operations or important revenues such as the equity in the earnings of nonconsolidated subsidiaries or affiliates.

7.
The SCF sheds light on (i) the effects of earning activities on cash resources, (ii) what assets are acquired, and (iii) how assets are financed. It also can highlight more clearly the distinction between net income and cash provided by operations. The ability of an enterprise to generate cash from operations on a consistent basis is an important indicator of financial health. No business can survive over the long run without generating cash from its operations. However, the interpretation of CFO figures and trends must be made with care and with a full understanding of all surrounding circumstances.

Prosperous as well as failing entities can find themselves unable to generate cash from operations at any given time, but for different reasons. The entity caught in the "prosperity squeeze" of having to invest its cash in receivables and inventories to meet ever‑increasing customer demand will often find that its profitability will facilitate financing by equity as well as by debt. That same profitability should ultimately turn CFO into a positive figure. The unsuccessful firm, on the other hand, will find its cash drained by slowdowns in receivable and inventory turnovers, by operating losses, or by a combination of these factors. These conditions usually contain the seeds of further losses and cash drains and also can lead to difficulties in obtaining trade credit. In such cases, a lack of CFO has different implications. The unsuccessful or financially pressed firm can increase its CFO by reducing accounts receivable and inventories, but usually this is done at the expense of services to customers that can further depress future profitability. Even if the unsuccessful firm manages to borrow, the costs of borrowing only magnify the ultimate drains of its cash. Thus, profitability is a key consideration, and while it does not insure CFO in the short run, it is essential to a healthy financial condition in the long run.

Changes in operating working capital items must be similarly interpreted in light of attending circumstances. An increase in receivables can mean expanding consumer demand for enterprise products or it can mean an inability to collect amounts due in a timely fashion. Similarly, an increase in inventories (and particularly of the raw material component) can imply preparations for an increase in production in response to consumer demand. It also can imply (particularly if the finished goods component of inventories is increasing) an inability to sell due to, say, when anticipated demand did not materialize.

8.
A valuable analytical derivative of the SCF is "free cash flow." As with any other analytical measure, analysts must pay careful attention to components of this computation. Here, as in the case of any cash flow measures, ulterior motives may sometimes affect the validity of the computation. One of the analytically most useful computations of free cash flow is:

  Cash from Operations (CFO)

  - Capital expenditures required to maintain productive capacity used in generating income
  - Dividends (on preferred stock and maintenance of desired payout on common stock)

  =
Free Cash Flow (FCF)

Positive FCF implies that this is the amount available for company purposes after provisions for financing outlays and expenditures to maintain productive capacity at current levels. Internal growth and financial flexibility depend on an adequate amount of FCF.  Note that the amount of capital expenditures needed to maintain productive capacity at current levels is generally not disclosed by companies. It is included in total capital expenditures, which also can include outlays for expansion of productive capacity. Breaking down capital expenditures between these two components is difficult. The FASB considered this issue, but in SFAS 95 it decided not to require classification of investment expenditures into maintenance and expansion categories.

9.
For financial statement analysis, the SCF provides clues to important matters such as:

· Feasibility of financing capital expenditures and possible sources of such financing.

· Sources of cash to finance an expansion in the business.

· Dependence of the firm on external sources of financing (such as debt or equity).

· Future dividend policies.

· Ability to meet future debt service requirements.

· Financial flexibility, that is, the firm's ability to generate sufficient cash so as to respond to unanticipated needs and opportunities.

· Insight into the financial habits of management and indications of future policies.

· Signals regarding the quality of earnings.

EXERCISES

Exercise 7-1 (20 minutes)

The Year 11 CFO of Campbell is higher (by $403.7 million) than its Year 11 net income for two main reasons:

1.
Some items decreased net income but did not use cash—specifically:


a.
Depreciation and amortization are expenses not requiring a cash outlay ($208.6).


b.
Deferred income taxes are an expense that has no present cash payment ($35.5).


c.
Several charges and expenses did not require outlays of cash ($63.2).


d.
A decrease in inventory implies that cost of sales are charged by reducing inventory levels rather than by making cash payments of $48.7.

2.
Some items generated operating cash inflow did not enter into the determination of net income—specifically:


a.
The decrease in accounts receivable means that cash is collected beyond the amounts recognized as sales revenue in the income statement ($17.1).


b.
There are several other items that had a similar effect, amounting to $30.6.

Exercise 7-2 (40 minutes)

a.
SFAS 95 requires that the SCF classify cash receipts and payments by operating, financing, and investing activities.

(1) Operating activities encompass all the earning‑related activities of the enterprise. They encompass, in addition to all the income and expense items found on the income statement, all the net inflows and outflows of cash that operations impose on the enterprise. Such operations include activities such as the extension of credit to customers, investment in inventories, and obtaining credit from suppliers. This means operating activities relate to all items in the statement of income (with minor exceptions) as well as to balance sheet items that relate to operations  mostly working capital accounts such as accounts receivable, inventories, prepayments, accounts payable, and accruals. SFAS 95 also specifies that operating activities include all transactions and events that are not of an investing or financing nature.

(2) Financing activities include obtaining resources from owners and providing them with a return of or a return on (dividends) their investment. They also include obtaining resources from creditors and repaying the amounts borrowed or otherwise settling the obligations.

(3) Investing activities include acquiring and selling or otherwise disposing of both securities that are not cash equivalents and productive assets that are expected to generate revenues over the long‑term. They also include lending money and collecting on such loans.
Exercise 7-2—concluded

b.
SFAS 95 requires that all significant financing and investing activities be disclosed. For example, noncash transactions that include the conversion of debt to equity, the acquisition of assets through the issuance of debt, and exchanges of assets or liabilities, should be disclosed in a separate schedule of noncash investing and financing activities.

c.
(1)
Net income is the starting point of the computation of CFO. SFAS 95 does not require the separate disclosure of extraordinary items in the SCF.


(2)
Depreciation is added back as an expense not requiring cash.


(3)
The write‑off of uncollectible receivables does not affect cash. Similarly, the bad debt expense does not require an outlay of cash. Since this corporation uses the indirect method for presentation of CFO, no additional adjustment is needed beyond the adjustment for the change in the net accounts receivable, which includes the credit to the allowance for doubtful accounts.


(4)
The $140,000 increase in accounts receivable means that some sales have not been collected in cash and, accordingly, net income is reduced by $140,000 in arriving at CFO.  The $60,000 decline in inventories means that cost of goods sold includes inventories paid for in prior years, and did not require cash this year. As such, net income is increased by $60,000 in arriving at CFO.


(5)
This $380,000 is an expense requiring cash—no adjustment is called for. This amount also must be disclosed as part of the supplemental disclosures.

(6)
A reconstructed analytical entry would appear as:


Cash

30,000



Accumulated Depreciation

50,000



PPE

75,000



Gain on sale of machine

 5,000

The $30,000 increase in cash is shown as a source from investing activities. The $5,000 gain is deducted from (removed from) net income so that the entire proceeds of the sale are shown as part of investment activities.


(7)
Only the cash payment of $100,000 is shown in the SCF as an investing activity outflow. In a separate schedule, the purchase of buildings and land for noncash considerations is detailed.


(8)
This is a noncash transaction that is disclosed in a separate schedule of noncash investing and financing activities.


(9)
The declaration of a cash dividend creates a current liability. During Year 8, no cash outflow occurs and there is nothing to report on the Year 8 SCF.


(10)
This event has no effect on cash nor need it be reported in conjunction with the SCF.

Exercise 7-3 (30 minutes)

a. Cash Flows from Operations Computation:


Net income

$10,000
Add (deduct) items to convert to cash basis:

Depreciation, depletion, and amortization

$8,000
Deferred income taxes

 400
Amortization of bond discount

 50
Increase in accounts payable

 1,200

Decrease in inventories

 850
  10,500


$20,500
Undistributed earnings of unconsolidated
 subsidiaries and affiliates

(200)

Amortization of premium on bonds payable

(60)
Increase in accounts receivable

 (900)
   (1,160)
Cash provided by operations 


$19,340
b.
(1)
The issuance of treasury stock for employee stock plans (as compensation) requires an addback to net income because it is an expense not using cash.


(2)
The cash outflow for interest is not included in expense and must be included as cash outflow in investing activities (as part of outlays for property.)


(3)
If the difference between pension expense and actual funding is an accrued liability, the unpaid portion must be added back to income as an expense not requiring cash. If the amount funded exceeds pension expense, then net income must be reduced by that excess amount.

Exercise 7-4 (30 minutes)

a.
Beginning balance of accounts receivable

$   305,000

Net sales

  1,937,000
Total potential receipts

$2,242,000

Ending balance of accounts receivable

  -  295,000
Cash collected from sales

$1,947,000

b.
Ending balance of inventory

$   549,000

Cost of sales

+1,150,000
Total

$1,699,000

Beginning balance of inventory

-   431,000
Purchases

$1,268,000

Beginning balance of accounts payable

$   563,000

Purchases (from above)

  1,268,000
Total potential payments

$1,831,000

Ending balance of accounts payable

-   604,000
Cash payments for accounts payable

$1,227,000

c.
Issuance of common stock

$     81,000

Issuance of treasury stock

       17,000
Total nonoperating cash receipts

$     98,000

d.
Increase in land

$   150,000

Increase in plant and equipment

       18,000
Total payments for noncurrent assets

$   168,000

Exercise 7-5 (20 minutes)

Source
Use
Adjustment
Category
a.


X
X
O

b.


X

F

c.
X


F

d.
X


I

e.


X

F

f.





NCN

g.


X

I

h.





NCS

i.


X

F

j.
X

X
O

Exercise 7-6 (20 minutes)

Source
Use
Adjustment
Category
a.
X
X
O

b.
 
X

F

c.





NCN

d.


X

I

e.





NCS

f.





NCN

g.
X


I

h.





NCS

i.





NE

j.


 


NE

Exercise 7-7 (30 minutes)

Net
Cash from
Cash


Income
operations
position

1.
NE
NE
+


2.
NE
NE
+


3.
+
+
+


4a.
-
NE
NE


4b.
NE(1)
+(2)
+(2)



4c.
-
+(2)
+(2)
 


5.
NE
+
+


6.
-
+ (long-run -)
+ (long-run -)


7.
-
-(5)
+


8.
+
NE
NE


9.
+(3)
+(4)
+(4)



10. 


 NE



      +



       +


11.


 +



      +



       +


12. 


 NE



      NE


       +


13. 


 NE



      NE


       +

(1) Deferred tax accounting.

(2) Depends on whether tax savings are realized in cash.

(3) If profitable.

(4)  If accounts receivable collected.

(5) Depends on whether interest is paid or accrued.


Further explanations (listed by proposal number):

1.
Substituting payment in stock for payment in cash for its dividends will not affect income or CFO but will increase cash position.

2.
In the short run, postponement of capital expenditures will save cash but have no effect on income or CFO. In the long term, both income and CFO may suffer due to lower operating efficiency.

Exercise 7-7—continued

3.
Cash not spent on repair and maintenance will increase all three measures. However, the skimping on necessary discretionary costs will adversely impact future operating efficiency and, hence, profitability.

4.
Managers advocating an increase in depreciation may have spoken in the mistaken belief that depreciation is a source of cash and that consequently increasing it would result in a higher cash inflow. In fact, the level of depreciation expense has no effect on cash flow—the same amount of depreciation deducted in arriving at net income is added back in arriving at CFO.  On the other hand, increasing depreciation for tax purposes will in all cases result in at least a short‑term savings.

5.
Quicker collections will not affect income but will increase CFO because of lower accounts receivable. Cash will also increase by the speedier conversion of receivables into cash. In the longer run this stiffening in the terms of sale to customers may result in sales lost to competition.

6.
Payments stretched‑out will lower income because of lost discounts but does positively affect CFO by increasing the level of accounts payable. Cash conservation will result in a higher cash position. Relations with suppliers may be affected adversely. Note: Long-term cash outflow will be higher because of the lost discount.

7.
Borrowing will result in interest costs that will decrease income and CFO. Cash position will increase.

8.
This change in depreciation method will increase income in the early stages of an asset's life. The opposite may hold true in the later stages of the asset's life.

9. In the short term, higher sales to dealers will result in higher profits (assuming we sell above costs) and, if they pay promptly, both CFO and cash will increase. However, unless the dealers are able to sell to consumers, such sales will be made at the expense of future sales.

10. This will lead to less income from pension assets in the future which could cause future pension expense to increase.

11. The cost of funding inventory will be reduced in the future.  In the current period net income may also be increased by a LIFO liquidation from reduced inventory levels.

12. The current period decline in the value of the trading securities has been reflected in current period income, as has the previous gain. Although the sale will increase cash, it will have no effect on current period income. If the current period decline is deemed to be temporary, the company is selling a potentially profitable security for a short-term cash gain.

13. Reissuance of treasury shares will increase cash, but will have no effect on current period income as any “gain” or “loss” is reflected in additional paid in capital, not income. If the stock price is considered to be temporarily depressed, the company is foregoing a future sale at a greater market price and is, thus, suffering current dilution of shareholder value.  

Exercise 7-8 (20 minutes)

a.
Depreciation is neither a source nor a use of cash. Instead, depreciation is an allocation of the cost of an asset over its useful life.

b.
A major cause of the belief that depreciation is a source of cash is the "add back" presentation in the SCF prepared using the indirect format. This presentation adds depreciation to net income and gives the erroneous impression that it increases cash from operations.

c.
There is one sense in which depreciation is a source of cash, and for this reason we must not overemphasize the idea that depreciation is not a source of cash. Namely, when selling prices are sufficient to recover the depreciation expense allocated to products sold, then revenues do provide management with a discretionary, even if temporary, inflow of cash (assuming no significant change in operating working capital). Normally, management will have to invest this cash in fixed assets replacements to continue in business on a long‑term basis. However, in the event of a financial crisis or cash shortfall, management has the option of diverting such cash to uses that will avert a liquidity crisis. This is the one exception that may allow one to regard depreciation as a temporary “source of cash.”

Exercise 7‑9 (60 minutes)

a.
Cash Collections Computation:

	Accounts Receivable (Net)

	Beg [a]
564.1

Sales [13]
6205.8
	6145.4
Cash collections [b]

	End [33]
624.5
	


Notes:

[a]
Balance at 7/29/Year 10

$624.5  [33]


Less: increase in Year 10
 
   (60.4) [61]


$564.1

[b]This amount is overstated by the provision for doubtful accounts expense that is included in another expense category.

b.
Cash Dividends Paid Computation:

	Dividends Payable

	Dividend paid [77]
137.5
	
32.3
Beg [43]


142.2
Dividend declared [a] [89]

	
	
37.0
End [43]


Note [a]: Item [89] represents dividends declared, not dividends paid (see also Item [77]).

c.
Cost of Goods and Services Produced Computation:

	Inventories

	Beg [34]
819.8

Amount to balance
3982.4
	4095.5
Cost of products sold [14]

	End [34]
706.7
	


d.
The entry for the income tax provision for Year 11 is:
Income tax expense [27]

265.9

Deferred income tax (current)  plug
 
 12.1

Income tax payable

230.4

Deferred income tax (noncurrent) [a] 
 
23.4

Notes:

(1) The entry increases current liabilities by $12.1 since deferred income tax (current) is credited by this amount. It also increases current liabilities by $230.4 [124A], the amount of income taxes payable.

(2) The [a] is the difference in the balance of the noncurrent deferred income tax item [176] = $258.5 ‑ $235.1 = $23.4.

(3) Also, $23.4 + $12.1 = $35.5, which is total deferred tax [59] or [127A]

Exercise 7‑9—continued

e.
Depreciation expense has no effect on cash from operations. The credit, when recording the depreciation expense, goes to accumulated depreciation, a noncash account.
f.
These provisions are added back because they affect only noncash accounts, the charge to earnings must be removed in converting it to the cash basis.

g.
The “Effect of exchange rate changes on cash” represents translation adjustments (differences) arising from the translation of cash from foreign currencies to the U.S. dollar.

h. Any gain or loss is reported under "other, net"—Item [60].

i. Free cash flows =

 Cash flow from operations – Cash used for capital additions – Dividends paid

Year 11: $805.2 – $361.1 – $137.5 = $306.6 

Year 10: $448.4 – $387.6 – $124.3 = $(63.5)

Year 9:   $357.3 – $284.1 –   $86.7 = $(13.5)

j. Start-up companies usually have greater capital addition requirements and lower cash inflows from operations.  Also, start-ups rarely pay cash dividends.  Free cash flow earned by start-up companies is usually used to fund the growth of the company, especially if successful.

k. During the launch of a new product line, the statement of cash flows can be affected in several ways.  First, cash flow from operations is lower because substantial advertising and promotion is required and sales growth has not yet been maximized.  Second, substantial capital additions are usually necessary to provide the infrastructure for the new product line. Third, cash flow from financing can be affected if financing is obtained to launch this new product line.

Exercise 7-10 (15 minutes)
a. Revenues are, in certain instances, recognized before cash is received (that is, when earned). Expenses are, in certain instances, recognized after cash is paid (that is, matched with revenues).  As a result, net income can be positive when operating cash flows are negative.  Consider some examples: (1) If accounts receivable increase substantially during the year, this implies that revenues outpaced cash collections.  (2) If a company builds up its inventory levels substantially, then cash is paid out but no expense is recognized.  (3) If the company reduces its accounts payable balances substantially during the year, then cash flows can be negative when net income is positive.

b. Operating cash flows can serve as one indicator of earnings quality because over a number of years, cash flows should approximate earnings.  If cash flows from operations are consistently lower than earnings, it is possible that the reported earnings are not of high quality. (As with any broad guideline, one must look for corroborating evidence.)

Exercise 7-11 (15 minutes)

a. During the growth stage, a company invests heavily in infrastructure growth and into advertising and promotion.  As the company transitions into the “cash cow” stage, the company reduces the investment in both infrastructure growth and advertising and promotional activities.  This transition would be manifested in the statement of cash flows by increased operating cash flows (less cash outflows for advertising and promotion, higher margins, so forth) and decreased use of cash for investing activities.

b. The decline of a “cash cow” would be reflected in the statement of cash flows by declining cash flows from operations.  The declining operating cash flows will result from declining sales of the fading “cash cow” products.

PROBLEMS

Problem 7‑1 (60 minutes)


Worksheet To Compute Cash Flow From Operations (In millions)


Direct (Inflow‑Outflow) Presentation


Campbell Soup — Year Ended July 28, Year 11








Ref.
Reported
Adjust. 
Revised

Cash Receipts from Operations
Net Sales

13
$6,204.1
$7.5
$6,211.6

Other revenue and income

19
26.0
C
26.0

(I) D in current receivables

61
17.1
C
17.1

(I) D in noncurrent receivables

                                                                            
=   CASH COLLECTIONS

                  $6,247.2
           $7.5           $6,254.7

Cash Disbursements for Operations

Total expenses (include min. int. & taxes) a

$5,831.0
$7.5
$5,838.5

Less: Expenses & losses not using cash:

‑ Depreciation and amortization

57
(208.6)

(208.6)

‑ Noncurrent deferred income taxes

59
(35.5)

(35.5)

‑ Other, net

60
(63.2)

(63.2)

Change in Current Assets and Liabilities

  related to Operations
  I (D) in inventories

62
$   (48.7)

$   (48.7)

  I (D) in prepaid expenses

35
(25.3)

(25.3)

  (I) D in accounts payable

41
42.8

42.8

  (I) D in taxes payable

44
(21.3)

(21.3)

  (I) D in accruals, payrolls, etc. b

175
(26.8)

(26.8)

  I or D in noncurrent accounts c


         5.8
  0.0
         5.8
= CASH DISBURSEMENTS


$5,450.2
$7.5
$5,457.7

Dividends Received

Equity in income of

  unconsolidated affiliates

24
2.4

2.4

Distributions beyond equity

  in income of affiliates c


        5.8
  0.0
        5.8
= Dividends from unconsol. affiliates

169A
$      8.2
$0.0
$      8.2
CASH FLOW FROM OPERATIONS 


$  805.2
$0.0
$  805.2

a
Total costs and expenses [22A] + Taxes on earnings [27] + Minority interests [25] + Interest income [19] = $5,531.9 + $265.9 + $7.2 + $26.0 = $5,831

b
It is assumed that accruals, payrolls, etc., are part of item [175].

c
A reconciling amount to tie in with the $8.2 dividends from affiliates (item 169A) versus equity in earnings of affiliates (item 24).

Problem 7‑2 (75 minutes)

a.


Worksheet To Compute Cash Flow From Operations (In Millions)


Direct (Inflow-outflow) Presentation


Campbell Soup Year Ended July 29, Year 10








Ref.
Reported
Adjust.
Revised

Cash Receipts from Operations

Net Sales

13
$6,205.8
$7.5
$6,213.3

Other revenue and income:

(I) D in current receivables

61
(60.4)

(60.4)

(I) D in noncurrent receivables

  Effect of translation adjustments 


         0.0
  0.0
         0.0
= Cash Collections


$6,145.4
$7.5
$6,152.9

Cash Disbursements for Operations

Total expenses (include interest &

  taxes) [22A] + [27] + [25]


$6,214.9
$7.5
$6,222.4

Less: Expenses & Losses not using cash

‑ Depreciation & amortization

57
(200.9)

(200.9)

‑ Noncurrent deferred income taxes

59
(3.9)

(3.9)

‑ Other provision for restructuring

  and writedowns

58
(339.1)

(339.1)

‑ Other *

60
(24.7)

(24.7)

‑ Other

Changes in Current Assets and Liabilities

  related to operations
  I (D) in inventories

62
(10.7)

(10.7)

  I (D) in prepaid expense


  (I) D in accounts payable


  (I) D in taxes payable


  (I) D in accruals, payrolls, etc.


  (I) D in dividends payable


  I or D other **

63
68.8

68.8

  I or D in noncurrent amounts


         0.0
  0.0
         0.0
= Cash Disbursements


$5,704.4
$7.5
$5,711.9

Dividends Received

Equity in income of unconsolidated

  affiliates

24
13.5

13.5

‑ Undistributed equity in income of

  affiliates

169A
       (6.1)
0.0
       (6.1)

= Dividends from unconsol. affils.


        7.4

        7.4
Cash Flow From Operations


$  448.4

$  448.4

*
Other, net [60] $18.6 + [169A] $6.1 = $24.7

**
Campbell shows a combined figure instead of details of operating assets and liabilities.

Problem 7‑3 (75 minutes)

a.



Zett Company


Statement of Cash Flows


For the Year Ended December 31, Year 2

Cash flows from operating activities

Net Income

$7,000

Add (deduct) items to convert to cash basis

Depreciation

5,000

Loss on sale of fixed assets

1,000

Gain on sale of investment

(3,000)

Decrease in inventory

2,000

Increase in receivables

(5,000)

Decrease in accounts payables

(7,000)
Net cash provided from operating activities
  


                         0

Cash flows from investing activities
Sale of fixed assets

6,000

Sale of investments

9,000

Purchase of fixed assets

(4,000)

Net cash provided from investing activities


                            11,000

Cash flows from financing activities

Sale of unissued common stock

1,000

Purchase of treasury stock

(11,500)

Net cash used by financing activities

(10,500)
Net Increase in cash

500

Supplemental disclosure of Cash Flow information
Cash paid during the year for:


Interest

4,000


Income taxes

6,000

Schedule of noncash investing and financing activities:

Acquisition of fixed assets by issue of bonds

30,000

Conversion of bonds into common stock

10,000

Problem 7‑3—continued

b.


Zett Company


Comparison of Accrual and Cash Reporting

Income Statement

Cash from operations
Sales

$70,000
$65,000
Collection from

  









customers

Gain on sale of investments

    3,000
        (a)

$73,000
$65,000

Purchases

(40,000)
(47,000)
Payments to

 









suppliers (b)

Decrease in inventory

(2,000)
—

Depreciation

(5,000)
(c)

Expenses paid

(18,000)
(18,000)

Loss on sale of fixed assets

   (1,000)
         (d)
Net income

$  7,000

Cash from operations


$          0

  Notes:

(a)
Omitted because it is linked with proceeds from sale of investments (investing activities).

(b)
Purchase of $40,000 + Decrease in accounts payable of $7,000.

(c)
No cash required.

(d)
Linked with sales of fixed assets (investing activities).

c. The income statement prepared on the accrual basis is designed to reflect profitability. Cash from operations measures the effects on cash of operating activities, and is best for liquidity and solvency analyses.

Problem 7‑4 (75 minutes)

a.


Dax Corporation


Statement of Cash Flows


For the Year Ended December 31, Year 2


($ thousands)

Cash provided from (used for) operations
Net Income

$160

Add (deduct) items to convert to cash basis:

Amortization

10

Depreciation

95

Inc. in accounts payable

30

Inc. in deferred income tax

12

Inc. in other current liabilities

7

Inc. in accounts receivable

(310)

Inc. in inventories

(145)

Inc. in prepaid expenses

  (25)

Net cash used for operations


$(166)

Cash provided from (used for) investing activities
Purchase of patents

(140)

Addition to plant and equipment

(700)

Addition to other assets

  (25)

Net cash used for investing activities


(865)

Cash provided from (used for) financing activities
Addition to long‑term debt

800

Issuance of common stock

200

Dividends paid


(109)

Net cash provided from financing activities


   891
Net decrease in cash


$(140)

Supplemental disclosure of cash flow information
Cash paid during year for:

Interest

$28,000

Income taxes

$70,000

Problem 7‑4—continued

b.
The major reasons for the difference between net income of $160 and cash outflow for operations of $166 are the heavy investments in inventories of $145 and the increased level of financing of customers evidenced by a $310 higher receivables balance. Compared to these heavy investments in operating assets, accounts payable have increased very modestly. With rising sales and profits, the company is experiencing a prosperity squeeze.

c.
This situation must be addressed before the liquidity problem becomes more serious. The following actions are reasonable recommendations:

1.
The larger volume of purchases justifies increased trade credit. The resulting expansion of accounts payable would increase cash from operations.

2.
The company needs a larger equity capital base. With increasing profits and with the company being in a growth industry this may be a good time to sell stock without diluting earnings per share.

3.
Issuance of equity will form a good base for further borrowing should business continue to expand rapidly.

4.
After additional equity capital has been obtained the company should consider lowering the dividend payout. For a fast growing and profitable company such as Dax, a dividend payout ratio of 68% ($109/$160) is quite high. Given its current profit opportunities, more earnings should be retained in the business.

Problem 7‑5 (40 minutes)


Niagara Company


Statement of Cash Flows


For Year Ended December 31, Year 9

Cash flows from operating activities
Cash receipts from operations
Sales [a]


$980

Cash payments for operations
Purchases of inventory [b]


(645)

Selling and general expenses 


(100)


Interest expense [c]

(40)

Income tax expense [d]


  (30)

Cash flows from operations


$165

Cash flows from investing activities

Purchase of fixed assets

(150)
Cash flows from financing activities

Repayment of notes payable

(25)


Issuance of long-term debt

50


Cash dividends paid

(30)
Cash flows used in financing


     (5)

Net increase in cash


$  10
Beginning cash balance


    50
Ending cash balance


$  60
Notes:

[a]
Sales

$1,000

Less increase in receivables

     (20)

Cash collections
 

$980

[b]
Cost of goods sold

$  (650)

Add increase in inventories

    (20)

Less increase in payables

     25


(645)

[c]
Interest expense

$    (50)

Less increase in interest payable

    10


(40)

[d]
Income tax expense

$    (40)

Less increase in deferred income tax
 
     10


   (30)

Note:
Purchase of fixed assets is computed from depreciation expense plus change in fixed assets ($100+$50). Dividends paid is computed from net income and change in retained earnings ($60‑$30).

Supporting schedule for CFO:

Net income

$  60

Add depreciation

100

Increase in deferred tax

10

Increase in receivables

(20)

Increase in inventory

(20)

Increase in accounts payable

25

Increase in interest payable

    10
Cash flows from operations

$165


Problem 7‑6 (35 minutes)

Effects

Analytical Entries (Optional)

a.
[‑Y, 11,000]
Bad Debt Expense

11,000

[CC, 11,000]
Allowance for Bad Debt

11,000

b.
[‑Y, 16,000]
Depreciation

16,000

[YA, 16,000]
Accumulated Depreciation

16,000

c.
[NAA, 100,000]
Building

100,000

[NDE, 100,000]
Long-Term Note Payable

100,000

d.
None

e.
None

f.
[+C, 10,000]
Cash

10,000


[‑Y, 2,000]
Loss

2,000

[CC, 12,000]
Inventory

12,000

g.
[+C, 35,000]
Cash

35,000


[DC, 5,000]
Accounts Receivable

5,000

[CC, 25,000]
Inventory

25,000

[+Y, 15,000]
Gain

15,000

h.
[CC, 3,000]
Allowance

5,000


[‑Y, 3,000]
Bad Debt Expense

3,000


Accounts Receivable

8,000

i.
[AA, 100,000]
Assets

100,000

[‑C, 100,000]
Cash

100,000


[‑Y, 20,000]
Depreciation expense

20,000

[YA, 20,000]
Accumulated Depreciation

20,000

j.
[+C, 8,000]
Cash

8,000


[AD, 8,000]
Loss on Sale

1,000

[YA, 1,000]
Machinery (net)

9,000

[‑Y, 1,000]

Problem 7‑7 (60 minutes)

Part I.

Effects

Analytical Entries (Optional)

a.
[DL, 100,000]
Current Portion of L-T Debt

100,000

[‑C, 100,000]
Cash

100,000

b.
[+C, 4,000]
Cash

4,000


[AD, 4,000]
Loss

1,000

[YA, 1,000]
Equipment

5,000

[‑Y, 1,000]

c.
[‑Y, 75,000]
Loss

75,000

[CC, 75,000]
Inventory

75,000

d.
[+C, 28,000]
Cash

28,000


[DE, 28,000]
Paid-In Capital

2,000


Treasury stock

30,000

e.
[NAA, 300,000]
Plant Assets

300,000

[NDE, 300,000]
Mortgage Payable

250,000


Mortgage Payable—Current

50,000

f.
[+C, 6,000]
Investment

30,000

[+Y, 30,000]
Equity in NI of Subsidiary

30,000


[YS, 24,000]
Cash

6,000





Investment

6,000

g.
[+C, 10,000]
Cash

10,000


[+Y, 40,000]
Accounts Receivable, current

10,000


[DC, 10,000]
Accounts Receivable, noncurrent

20,000

[NC, 20,000]
Sales

40,000

h.
[DC, 9,000]
Inventory

9,000

[+Y, 9,000]
Cost of Goods Sold

9,000

i.
[DC, 260,000]
Current Assets

260,000


[CC, 160,000]
Plant and Equipment

670,000

[DE, 410,000]
Current Liabilities.

160,000

[‑C, 360,000]
Long-Term Debt

410,000


Cash ($400‑$40)

360,000

j.
[‑Y, 60,000]
Expense

60,000

[CC, 60,000]

Allowance for doubtful accounts
60,000

Problem 7‑7—continued

Part II.

Effects

Analytical Entries (Optional)

a.
[AA, 120,000]
Investment

120,000

[‑C, 120,000]
Cash

120,000

b.
[YS, 7,500]
Investment

7,500

[+Y, 7,500]
Equity in Earnings

7,500

c.
[+C, 3,000]
Investment

9,000


[+Y, 9,000]

      Equity in Earnings…………….. 
9,000


[YS, 6,000]
Cash

3,000


Investment

3,000

d.
[+C, 4,000]
Cash

4,000

[AD, 4,000]
Equipment (net)

3,000

[YS, 1,000]
Gain on Sale 

1,000


[+Y, 1,000]

e.
[+C, 60,000]
Cash

60,000

[IL, 60,000]
Note Payable (current)

60,000

f.
[NDR, 9,000]
Bonds Payable

9,000

[NDE, 9,000]
Common stock

2,000


Paid-In Capital

7,000

g.
[+C, 6,000]
Cash

6,000

[DE, 6,000]
Treasury stock

4,000


Paid-In Capital

2,000

h1.
[AA, 200,000]
Investment

200,000

[DE, 100,000]
Common stock

100,000

[‑C, 100,000]
Cash

100,000

h2.
[DC, 80,000]
Current Assets ($120‑$40)

80,000


[AA, 180,000]
Plant and Equipment

180,000

[DE, 140,000]
Current Liabilities

60,000

[‑C, 60,000]
Long-Term Debt

40,000


Common stock

100,000


Cash ($100‑$40)

60,000

i.
[‑Y, 4,000]
Minority Interest Expense

4,000

[YA, 4,000]
Minority Interest

4,000

Problem 7‑7—continued

Part II.

Effects

Analytical Entries (Optional)

j.
[‑Y, 50,000]
Inventory Loss

50,000

[CC, 50,000]
Inventory

50,000

k.
None
Allow. for doubtful accounts

1,200






Accounts receivable
1,200

l.
[NAA, 120,000]
Leased Equipment

120,000

[NDE, 120,000]
Long‑Term debt

120,000

m.
None
Retained Earnings

180,000


Common stock 

120,000


Paid-in Capital
 
60,000

n.
[‑Y, 27,000]
Bad Debts Expense

27,000

[CC, 27,000]
Allow for Doubtful Accounts

27,000

Problem 7‑8 (45 minutes)


BIRD CORPORATION


Balance Sheet


As of January 1, Year 1

Assets

Cash


$  50,000

Accounts receivable


 90,000

Inventory


  110,000
Current assets


$250,000

Property, plant, and equipment


$465,000

Less: Accumulated depreciation


  235,000
 230,000

Other noncurrent investments


  245,000
Total assets


$725,000
Liabilities and Equity

Accounts payable


$  60,000

Current portion of long‑term debt


  110,000
Current liabilities


$170,000

Long‑term debt


 185,000

Common stock


 290,000

Retained earnings


    80,000
Total liabilities and equity


$725,000
Note: T-Accounts for Reconstruction of Balance Sheet (Optional)

	Cash

	Beg ($100,000 Ending - $50,000 Incr.)
50,000
	


	Operations

	Net income (1)
150,000

Depreciation expense (2)
85,000

Loss on sale of equip (3)
5,000

Increase in accounts payable (4)
40,000
	50,000
(5) Gain on sale of investments

30,000
(6) Increase in accounts receivable

20,000
(7) Increase in inventory


	Investing

	Sale of equipment (8)
10,000

Sale of investments (9)
95,000
	150,000
(10) Additions to property and equip.


	Financing

	Issuance of common stock (11)
10,000

Additions to long-term debt (12)
15,000

Ending
100,000
	80,000
(13) Cash dividends

30,000
(14) Decrease in current portion


of long-term debt


Problem 7‑8—continued

	Retained Earnings
	
	Property, Plant, and Equipment

	(13)
80,000
	80,000
Beg

150,000
(1)
	
	Beg
465,000

(10)
150,000
	65,000
(3),(8) & (a)

	
	150,000
End
	
	End
550,000
	


	Other Noncurrent Investments
	
	Accumulated Depreciation

	Beg
245,000
	45,000
(5),(9)
	
	(a)
50,000
	235,000
Beg

85,000
(2)

	End
200,000
	
	
	
	270,000
End


	Long‑term Debt
	
	Common Stock

	
	185,000
Beg

15,000
(12)
	
	
	290,000
Beg

10,000
(11)

	
	200,000
End
	
	
	300,000
End


	Accounts Receivable
	
	Inventory

	Beg
90,000

(6)
30,000
	
	
	Beg
110,000

(7)
20,000
	

	End
120,000
	
	
	End
130,000
	


	Accounts Payable
	
	Current Portion of Long-Term Debt

	
	60,000
Beg

40,000
(4)
	
	(14)
30,000
	110,000
Beg

	
	100,000
End
	
	
	80,000
End


Problem 7‑9 (30 minutes)


Current
Working Capital 
Cash from Operations
Analytical Entries (Optional)


Ratio
Effect
Amount
 Effect
Amount
Dr.

Cr.


a.

+
NE
$0
‑
$1,000
Wages Payable
Cash

b.
‑
NE
0
NE
0
Purchases

Acct. Pay.

c.

‑
‑
70,000
NE
0
Loss

Acct. Pay.

d.
NE 
NE 
0
+
8,000
Cash

Acct. Rec.

e.

‑
‑
100,000
NE 
0
Land

Cash

f.

+
NE 
0
NE 
0
Note Payable

Cash

g.
+
+
15,000
NE 
0
Note Receivable
Land

h.
+
+
90,000
NE 
0
Cash

Paid-in Cap

i.

‑
‑
20,000
NE 
0
Machine

Cash










S-T Liab.










L-T Liab.

j.

‑
‑
50,000
NE 
0
Bond Payable

Cash

Premium on B. Pay.
Gain

k.

‑
‑
10,000
NE 
0
Retained Earnings
Div. Pay.

l.

+
NE 
0
NE 
0
Dividend Payable
Cash

m.
NE 
NE 
0
NE 
0
Retained Earnings
Stk Div Pay

n.
NE 
NE 
0
NE 
0
Stock Dividend Pay.
Paid-in Cap










Capital Stk

o.
NE 
NE 
0
NE 
0
No entry

p.
‑
NE
0
NE 
0
Cash

Notes Pay.

q.
+
NE
0
‑
20,000
Accounts Payable
Cash

r.

‑
‑
20,000
NE 
0
Patent

Cash

s.

‑
‑
15,000
‑
15,000
Loss

Mktble Sec

t.

NE 
NE 
0
NE 
0
Loss

Org. Exp.

u.
NE 
NE 
0
NE* 
0
Depreciation Exp.
Accum Dep

v.

+
+
28,000
NE 
0
Accounts Receivable
Sales

w.
+
+
90,000
NE* 
0
Cash

Building










Gain

x.

+
+
5,000
NE 
0
Cash

Machine








Notes Receivable

y.

‑
‑
40,000
NE 
0
Income Tax Expense
Inc Tax Pay










Def Tax (LT)

*Transaction does not effect cash from operations. However, the computation of cash from operations is effected if it is calculated using the indirect method.

Problem 7‑10 (45 minutes)

a.
The two measures are summary performance metrics from two different statements (or portions of statements) that deal with operations—the income statement and the cash from operations (CFO) section of the statement of cash flows. There is considerable confusion among users of financial statements about both the concept of "operations" and about the different aspects of operations that these two measures are designed to portray.


The function of the income statement is to measure the profitability of the enterprise for a given period. This is done by recognizing revenue when earned, and then matching expenses with those revenues. Moreover, costs incurred during a period that do not create future benefits must be charged to expense regardless of the availability of related revenues against which they can be matched. While no other statement measures profitability as well as the income statement, it does not show the timing of cash flows and the effect of operations on liquidity and solvency. Consequently, other specialized statements are needed to focus on the latter factors, which are different dimensions of earning-related activities.


Cash from operations (CFO) encompasses the broader concept of operations compared with net income. It encompasses all earning-related activities of the entity and it is concerned not only with revenues and expenses but also with the cash demands of these activities such as investments in customer receivables and in inventories as well as the financing provided by suppliers of goods and services. We can arrive at operating cash receipts and disbursements by adjusting net income for items needed to convert it to the cash basis (indirect format). We must remember that CFO focuses on liquidity and is not a measure of profitability as it excludes important costs such as the use of long‑lived assets in operations, nor important revenues such as equity in the earnings of nonconsolidated subsidiaries or affiliates.
b.
Analysis of Transactions
Net Income
    Cash from Operations

1.
+

NE

2.
+

NE

3.
NE

NE

4.
NE

NE

5.
NE

+

6.
‑

NE

7.
NE

NE

8.
‑

NE

9.
NE

‑

10.
‑

NE

11.
NE

NE

12.
‑

NE

13.
‑

NE

14.
‑

NE

15.
NE

NE

16.
+

NE

17.
‑

NE

18.
NE

NE

19.
‑

NE

20.
‑

NE

21.
NE

NE

22.
NE

‑

Problem 7‑11 (75 minutes)

a.
As an initial step, the effect of the Kraft acquisition must first be removed from the Philip Morris (PM) accounts. The resulting balance sheet changes are


Philip Morris Unadjusted


PM Adj.


Year 7
Year 8
Change
Kraft
Change

Accts. Recble.
 
$2,065
$ 2,222
$    157
$    758
$  (601)

Inventories 

4,154
5,384
1,230
1,232
(2)

PP&E 

6,582
8,648
2,066
1,740
326

Goodwill 

4,052
15,071
11,019
10,361
658

S‑T Debt
 
1,440
1,259
(181)
700
(881)

Accts. Pay. 

791
1,777
986
578
408

Accrued liab.

2,277
3,848
1,571
530
1,041

L‑T Debt

6,293
17,122
10,829
900
9,929

Problem 7‑11—continued

This permits one to derive the statement of cash flows—indirect format

PHILIP MORRIS COMPANIES, INC.


Statement of Cash Flows


For the Year Ended December 31, Year 8 
($ millions)

Cash flows from operating activities
Net income


$ 2,337

Add (deduct) adjustments to cash basis
Depreciation expense


   654

Amortization of goodwill


   125

Decrease in accounts receivable


   601

Decrease in inventories


     2

Decrease in deferred taxes


  (325)

Increase in accounts payable


   408

Increase in accrued liabilities


 1,041

Increase in income taxes payable


   362
Net cash flow from operating activities


$ 5,205

Cash flows from investing activities

Increase in property, plant & equipment

  (before depreciation)


(980)

Increase in goodwill (before amortization)

   
(783)

Decrease in investments


    405

Acquisition of subsidiary—Kraft *


(11,383)

Net cash used by investing activities


(12,741)

Cash flows from financing activities

Decrease in short‑term debt


(881)

Increase in long‑term debt


 9,929

Decrease in equity (repurchase) **
  

(540)

Dividends declared


  (941)

Increase in dividends payable


      47
Net cash provided by financing activities


  7,614
Net increase in cash


$      78
Supplemental disclosure of cash flow information

Interest paid during year 

$  670


Income taxes paid during the year

$1,353

Notes:

*
Total of Kraft assets and liabilities removed from year to year changes and shown as cash outlay for investing activity.

**
The net issuance or repurchase of equity is computed by reconciling the stockholders' equity account as follows:

12/31/Year 7 balance

$6,823

Year 8 net income

 2,337

Dividend declared

   (941)

Total

8,219

12/31/Year 8 balance

(7,679)

Decrease in equity (repurchase)

$   540

Problem 7‑11—continued

b.
Note: For the complete statement of cash flows, the following presentation (direct format) of the cash flows from operating activities section should replace the cash flows from operating activities section (using the indirect format) for the statement of cash flows in part a.


PHILIP MORRIS COMPANIES, INC.


Cash Flow From Operations


For Year Ended December 31, Year 8 ($ Millions)

Cash flows from operating activities
Cash receipts from operations
Sales [a]


$32,343

Cash payments for operations
Purchases of inventory [b]


(11,746)

Selling and administrative expenses [c]


(13,369)


Interest expense [d]

(670)

Income tax expense [e]


  (1,353)

Cash flows from operations


$5,205
Notes
[a]:
Sales


$31,742


Decrease in accounts receivable


       601

Cash collections


$32,343

[b]:
Cost of goods sold


(12,156)


Decrease in inventories


       2


Increase in accounts payable


      408

(11,746)

[c]:
Selling and administrative expense


(14,410)


Increase in accrued liabilities

 
   1,041
 (13,369)

[d]:
Interest expense (as given)


   (670)

[e]:
Income tax expense


(1,390)


Increase in income taxes payable

 
   362


Decrease in deferred income taxes

 
   (325)
(1,353)

Problem 7‑11—concluded

c.
Free cash flow can be defined in various ways. The starting point is cash flow from operating activities of $5,205 million. Students may want to remove interest expense from operating cash flow; if they do so, it should be on an after-tax basis. From operating cash flow, capital expenditures should be deducted. It would be proper to differentiate capital expenditures required to maintain existing business from those that generate growth. The simplest calculation would be operating cash flow less capital expenditures: $5,205‑$980 = $4,225 million. Other variations are possible. Students should also subtract dividends paid of $894.  This yields a free cash flow of $3,331.


The implications of free cash flow for a company’s future earnings and financial condition can include the:

1.
Repayment of debt resulting in lower interest cost and higher earnings. This would also reduce debt ratios and improves interest coverage, possibly leading to higher debt ratings.

2.
Repurchase of equity. This may raise earnings per share and (if repurchased below stated book value per share) would increase this book value.

3.
Increased ability to make acquisitions (such as Kraft), which can provide future growth, better diversification, and lower risk.

4.
Increased funding of internal growth through capital spending, research and development, new product introduction costs, and so forth.

5.
Increase in dividends, providing larger payout of earnings to equity investors.

6.
Increased liquidity (financial flexibility), allowing the firm to respond to unexpected needs and opportunities.

Problem 7‑12 (60 minutes)

a.

Zeta Corporation

Worksheet to Compute Cash Flow from Operations


Direct Presentation (in $000s)





Year 6
Year 5
Operating Cash Receipts and Disbursements

Cash Receipts from Operations

Net sales [a] (186,000 + 18,000)

  (155,000 + 23,000) [A]

1*
$204,000
$178,000

Other revenue and income

2*

(I) D in current receivables

3
  (3,000)
  (2,400)

(I) D in non‑current receivables [b]

4

Other adjustments [c]

5

             

= CASH COLLECTIONS

6
 201,000
 175,600

Cash Disbursements for Operations

Total expenses [a] [B]

7*
 196,000
 170,000

Less: Expenses and losses not using cash

‑ Depreciation and amortization

8
  (6,000)
  (4,000)

‑ Noncurrent deferred income taxes

9
  (1,600)
  (1,000)

‑ Other minority interest

10
    (200)

‑ Other loss on discontinued operations

11
    (700)

‑ Other

12

Changes in Current Assets and Liabilities

  related to Operations
I (D) in inventories

13
 15,900
 6,000

I (D) in prepaid expense

14

 200

(I) D in accounts payable and accruals

15
  (2,500)
  (2,000)

(I) D in taxes payable

16
  (5,700)
  (1,000)

(I) D in accruals

17

I or D other

18

I or D other

19

I or D in noncurrent accounts [b]

20

             

= CASH DISBURSEMENTS

21
 195,200
 168,200

Dividends Received

Equity in income of unconsolidated affiliates

22*
   2,000
  (1,000)

‑ Undistributed equity in income of affiliate

23
   (1,400)
    1,300
= DIVIDENDS FROM UNCONSOL AFFILIATES

24
       600
       300

Other Cash Receipts (Disbursements)

25*

              

CASH FLOW FROM OPERATIONS [d]

26
$   6,400
$   7,700
Problem 7‑12—continued

Notes:

(*)
These five lines must equal reported net income per income statement [Year 6 verification: $204,000 ‑$196,000 + $2,000 = $10,000].

(a)
Including adjustments (grossing‑up) of revenue and expense of discontinued operations reported in note.

(b)
Determined to relate to operations (described in footnotes).

(c)
Such as removal of gains included above (described in footnotes).

(d)
Reconcile to amount reported by company. If not reported, reconcile to change in cash for period.

(A)
Sales from discontinued operations (see Note 4)





Year 6
Year 5

(B)
Expenses per income statement

167,000
138,000


Income taxes

10,000
7,800


Minority interest

200



Discontinued operations

1,100
1,200


Loss on disposal

700



Cumulative effect of accounting change

(1,000)
            -

178,000
147,000

Expenses of discontinued operations

19,100
24,200

Loss on discontinued operations

   (1,100)*
   (1,200)**


196,000
170,000

*
Replaced by sales of $18,000 (Note 4) ‑ expenses $19,100.

**
Replaced by sales of $23,000 (Note 4) ‑ expenses $24,200.

[Note: Due to the acquisition of TRO Company in Year 6, the operating working capital accounts include amounts so acquired and may distort cash inflows and outflows from operations.]

b.





Year 6
Year 5*

Income tax expense

$10,000
$7,800

Taxes in “below line” items:

+ Tax on cumulative effect

1,000
  ‑-

– Tax on discontinued operations

(1,100)
(1,200)

– Tax on loss with disposal 

   (700)
        --


9,200
6,600

Increase in deferred income tax

(1,600)
(1,000)

Increase in taxes payable

  (5,000)
 (1,000)

Income taxes paid

$ 2,600
$4,600

*
Data for Year 5 not provided in financial statements.

Problem 7‑12—continued

c.

Change in balances of “Accounts Payable and

  Accruals”—per balance sheet



$6,000

Less: Adjustment due to disposal [a]

$  300

Less: Adjustment due to TRO acquisition [b]

 3,200
  3,500
Adjustment to net income to arrive at CFO


$2,500


Explanations:


[a] Note 4 describes the loss on disposal—summarized as follows:

Loss on disposal

1,400

Property, plant & equipment 

1,000

Inventories * 

100

Accounts payable & accruals *

300


and

Tax payable * 

700

Loss on disposal

700

No cash is involved in this loss. However, if the operating working capital items (marked by *) involved in this entry are not adjusted, the operating cash flows will be distorted. Thus, the effect of this entry on these accounts must be eliminated. The balance sheet year-to-year change in the "Accounts Payable and Accruals" account shows an increase of $6,000. However, the change related to cash effects of operations is $300 less because a $300 credit to the account represents a noncash entry. Thus, the adjustment in the SCF is $5,700.  The total adjustment from loss on disposal in the SCF can be summarized as:

Inventories (increase)

100

Accounts payable and accruals (decrease) 

300

Property, plant and equipment (increase)

1,000 *

Loss on discontinued oper. (addback to income)

700

Taxes payable (increase)

700


* The amount of $6,500 shown as additions to PP&E reflects this adjustment.

[b] Note 3 describes the acquisition of TRO Company. Zeta assumed accounts payables and accruals of $3,200. These must be removed from the determination of CFO to not distort this figure. The $3,200 is shown as part of the amount determining the acquisition price of TRO.

CASES

Case 7–1 (45 minutes)

a.  1.
Depreciation expense represents the allocation of the cost of fixed assets over the useful life of the asset.  Amortization expense represents the allocation of the cost of intangible assets over the useful life of the asset.  In each of these cases, the investing cash outflow occurs when the asset is acquired (and not when its cost is subsequently allocated to expense).

2. Changes in deferred taxes impact reported tax expense, but not taxes paid. Consequently, the statement of cash flows begins with net income (using reported tax expense) and adjusts for changes in deferred taxes in order to derive cash taxes paid. 
3. Decreases in receivables cause operating cash flows to be greater than net income because cash has been collected relating to revenues recorded in a previous period.

4. Decreases in inventory cause operating cash flows to be greater than net income because cash was generated as inventories are sold and not replenished. 

b. Net income is much less than operating cash flows in 2005 primarily because of the add-back of depreciation and amortization, cash inflows arising from the tax benefits relating to employee stock options, and the reduction of operating working capital.  

c. Free cash flows = Cash flow from operations – Capital additions – Dividends

2005: $5,310 – $525 – $0 = $4,785
2004: $3,670 – $329 – $0 = $3,341
2003: $3,538 – $305 – $0 = $3,233
d. Dell has used free cash flows primarily to repurchase shares of its stock. The excess has been invested in marketable securities.
e. Dell can return cash to shareholders via dividend payments and stock repurchases. Cash paid for dividends is zero, but stock repurchases have amounted to $8,509 million ($4,219+$2,000+$2,290) over the past 3 years.

Case 7–2 (40 minutes)

a. Analysis of the statement of cash flows suggests that this strategy was implemented during Year 8. Specifically, during that year the cash flows of Lands’ End to buildup its inventory to implement its new policy are very high — $104.545 million cash outflow to acquire additional inventory.

b. 1.
Depreciation expense represents the allocation of the cost of fixed assets over the useful life of the asset.  Amortization expense represents the allocation of the cost of intangible assets over the useful life of the asset.  In each of these cases, the investing cash outflow occurs when the asset is acquired (and not when its cost is subsequently allocated to expense).

2. Increases in receivables cause operating cash flows to be less than net income because revenues (reflecting receivables) are included in net income, but the related cash may not yet be received. Conversely, decreases in receivables cause operating cash flows to be greater than net income because cash is received for revenues recognized in prior periods.

3. Decreases in inventory cause net income to be higher than operating cash flows because sales revenue is recognized when earned but the inventory sold can be paid for in earlier periods. Increases in inventory cause operating cash flows to be less than net income because cash was used to increase inventory levels.  When these inventories are subsequently sold, revenues will be earned and net income will be increased. However, this inventory will be expensed on the income statement in the period that it is sold.

4. Each year, Lands’ End establishes a reserve for sales returns.  As a result, a reconciling item is created between net income and operating cash flows because the cash outflow to cover the reserve will occur in the next period when a portion of the sold items is actually returned.  

c. Free cash flows = Cash flow from operations – Capital additions – Dividends

Year ended Year 9: $  74,260  – $46,750 – $0 = $ 27,510

Year ended Year 8: $ (26,932) – $47,659 – $0 = $(74,591)

Year ended Year 7: $121,795  – $18,481 – $0 = $103,314

d. Lands’ End appears to have recently used its free cash flow to repurchase shares.  Assuming that management doesn’t have any positive net present value projects for expansion available, this is a reasonable use of free cash flow as it returns cash to shareholders. These shareholders can then invest these funds according to their risk and return preferences.

Case 7-3 (30 minutes)

a. Yahoo issued stock (common and preferred) to generate the necessary cash flows to finance its business activities and growth opportunities.

b. Net income (revenues and expenses) appears to be driving operating cash flows for Yahoo. As net income increases (decreases), operating cash flow increases (decreases).

c. Yahoo has substantial cash reserves generated via equity issuances. This equity capital is necessary to finance projected growth in the upcoming years. Until the company requires the cash, it is being invested in marketable securities in a desire to earn a higher than “normal” rate of return.

d. This amount represents cash received before revenue is recognized (that is, the service/product is not yet delivered). Most of this deferred revenue likely is related to prepaid advertising revenue received in advance.

Case 7‑4 (60 minutes)

a.


WYATT CORPORATION


Statement of Cash Flows


For the Year Ended December 31, Year 10

Cash flows from operating activities
Net income *


$186,000

Add (deduct) adjustments to cash basis

Depreciation expense


246,000

Gain on sale of equipment **


(4,000)

Increase in accounts receivable


(111,000)

Increase in inventories


(218,000)

Increase in accounts payable


103,000

Decrease in income taxes payable


(25,000)

Increase in other payables


   92,000
Net cash flow from operating activities


$269,000

Cash flows from investing activities
Proceeds from sale of equipment

34,000

Additions to plant and equipment

(212,000)

Net cash used by investing activities


(178,000)

Cash flows from financing activities
Issuance of stock

17,000

Dividends

(74,000)

Reduction of debt

  (17,000)

Net cash provided by financing activities


  (74,000)

Net increase in cash


$  17,000

Cash balance, December 31, Year 9


  175,000

Cash balance, December 31, Year 10


$192,000
Notes:

*
Determination of Year 10 net income:


Retained earnings, 12/31/Year 10

$1,638,000


Retained earnings, 12/31/Year 9

(1,526,000)



112,000


Plus: Dividends paid

       74,000

Year 10 net income

$   186,000
**Derivation of gain on sale of equipment:

Accumulated depreciation, 12/31/Year 9

$   916,000

Depreciation expense

     246,000



$1,162,000

Accumulated depreciation, 12/31/Year 10

 (1,131,000)

Accumulated depreciation on equipment sold

$     31,000

Original Cost

$     61,000

Accumulated depreciation on equipment sold

      (31,000)

Basis of equipment

$     30,000

Proceeds from sale

      34,000
Gain on sale

$       4,000
Case 7‑4—continued

b.
In Year 10, Wyatt Corporation generated cash from operations of $269,000 after considering operating working capital needs. Subtracting projected debt service of $300,000 per year and estimated capital spending of $325,000 per year from that figure leaves a decidedly negative number. That is, there is not sufficient cash to fund both the debt service and the expansion project for any extended period of time. Therefore, the leveraged buyout and the capital spending plan are mutually not compatible goals—at least not as currently proposed. Wyatt cannot do both. Moreover, it probably should not do either one if it wishes to maintain a reasonable margin of safety.

Case 7‑5 (75 minutes)


DOVER CORP.


Statement of Cash Flows


For the Year Ended December 31, Year 8

Cash flows from operating activities
Net income

$305,000

Adjustments to reconcile net income to net cash

  provided by operating activities:

Depreciation

82,000

Amortization of patent
 
9,000

Loss on sale of equipment

10,000

Equity in income of Top Corp.

(30,000)

Gain on sale of marketable equity securities

(19,000)

Decrease in allowance to reduce marketable

  equity securities to market

(15,000)

Increase in accounts receivable

(35,000)

Decrease in inventories

80,000

Decrease in accounts payable and accrued liabilities 

(115,000)

Net cash provided by operating activities 

$272,000

Cash flows from investing activities
Sale of marketable equity securities

119,000

Sale of equipment 

18,000

Purchase of equipment

(120,000)

Net cash provided by investing activities 

 17,000

Cash flows from financing activities
Issuance of common stock

260,000

Cash dividend paid

(85,000)

Payment on note payable

(300,000)

Net cash used in financing activities

(125,000)

Net increase in cash

$164,000
Cash at beginning of year 

  307,000
Cash at end of year

$471,000
Case 7‑5—continued

Feasibility Analysis of Management’s Proposal
Cash from operations, Year 8

$ 272,000

Additional interest cost

(200,000)

Annual equipment investments

(180,000)

Less Year 8 outlay

120,000

Annual inventory buildup

    (60,000)

Projected cash shortfall

$  (48,000)

Other considerations in Assessing Management’s Proposal:

Non‑CFO cash flows in Year 8 are $(108,000) — a cash outflow. However, dividend payments can probably be reduced. A ultimate question is whether the investment in equipment will yield positive additions to CFO. The current analysis raises serious doubts about the feasibility of this proposal.

NOTE: Supporting computations for the SCF draw on these T‑accounts ($000s)

	Cash

	Beginning
307
	


	Operating

	(1) Loss on sale of equipment
10

(4) Net income
305

(b) Decrease in Inventory
80

(e) Amortization of patents
9

(f) Depreciation
82
	
34
 (2) Gain on sale of securities
34


 30
 (c) Equity in Top Corp.
30


35 
 (a) Increase in accounts receivable
35


 115 
 (g) Decrease in accounts payable
115


	Investing

	(1) Proceeds from sale of

  equipment
18

(2) Proceeds from sale of

  securities
119
	
 120
 (d) Additions to PP&E
120


	Financing

	(3) Issue of common stock
260

Ending
471
	
 300
 (h) Increase in note payable


 85
(5) Dividends


Case 7‑5—continued

	Marketable Securities, at cost
	
	Allow. to Reduce Marketable Sec.  to Market

	Beg
250
	
 100
 (2)
100
	
	(2)
15
	25
Beg

	End
150
	
	
	
	10
End


	Accounts Receivable
	
	Inventories

	Beg
515

(a)
35
	
	
	Beg
890
	80
(b)

	End
550
	
	
	End
810
	


	Investment in Top Corp. (at equity)
	
	PP&E

	Beg
390

(c)
30
	
	
	Beg
1,070

(d)
120
	
45
(1)

	End
420
	
	
	End
1,145
	


	Patent
	
	Accum. Depreciation

	Beg
118
	
9
(e)
	
	(1)
17
	
280
Beg


82
(f)

	End
109
	
	
	
	
345
End


	Long-Term Note Payable
	
	Accounts Payable and Accrued Liabilities

	(h)
300
	900
Beg
	
	(g)
115
	
960
Beg

	
	600
End
	
	
	
845
End


	Common Stock
	
	Deferred Income Taxes

	
	650
Beg

200
(3)
	
	
	
190
Beg

	
	850
End
	
	
	
190
End


	Retained Earnings
	
	Additional Paid-In Capital

	(5)
85
	365
Beg

305
(4)
	
	
	
170
Beg


60
(3)

	
	585
End
	
	
	
230
End
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